

$$(16) \int \frac{dx}{x\sqrt{x^2+x+1}}$$

$$\begin{aligned} \sqrt{x^2+x+1} &= t-x & x \in \mathbb{R} &\Leftrightarrow t \in (-\frac{1}{2}, +\infty) \\ x^2+x+1 &= t^2-2tx+x^2 & x=0 &: t=1. \\ x &= \frac{t^2-1}{2t+1} & dx &= \frac{2(t^2+t+1)}{(2t+1)^2} dt \quad \text{m.x.} \end{aligned}$$

$$\sqrt{x^2+x+1} = t-x = t - \frac{t^2-1}{2t+1} = \frac{t^2+t+1}{2t+1}$$

$$= \int \frac{2t+1}{t^2-1} \cdot \frac{2t+1}{t^2+t+1} \cdot \frac{2(t^2+t+1)}{(2t+1)^2} dt = \int \frac{2dt}{t^2-1} = \ln \left| \frac{t-1}{t+1} \right|$$

$$\text{also: } = \ln \left| \frac{\sqrt{x^2+x+1}+x-1}{\sqrt{x^2+x+1}+x+1} \right| ; \quad \begin{array}{l} t \in (-\infty, -1) \\ (-1, +1) \\ (1, +\infty) \end{array}$$

$$x \in (-\infty, 0) \quad (0, +\infty)$$

$$(17) \int \frac{x}{\sqrt{x^2+x+1}} dx \quad \left| \begin{array}{l} \sqrt{x^2+x+1} = t-x; \\ \text{wie zu (16) mit:} \end{array} \right.$$

$$= \int \frac{t^2-1}{2t+1} \cdot \frac{2t+1}{t^2+t+1} \cdot \frac{2(t^2+t+1)}{(2t+1)^2} dt = \int \frac{2(t^2-1)}{(2t+1)^2} dt$$

$$\frac{2(t^2-1)}{(2t+1)^2} = \frac{1}{2} - \frac{1}{2t+1} - \frac{3}{2(2t+1)^2} ; \text{ m.x.}$$

$$= \frac{t}{2} - \frac{1}{2} \ln|2t+1| + \frac{3}{4(2t+1)} ; \quad \begin{array}{l} t \in (-\infty, -\frac{1}{2}) \\ (\frac{1}{2}, +\infty) \end{array}$$

$$= \frac{1}{2} (\sqrt{x^2+x+1}+x) - \frac{1}{2} \ln \left( 2(\sqrt{x^2+x+1}+x)+1 \right) - \frac{3}{2} \cdot \frac{1}{(2(\sqrt{x^2+x+1}+x)+1)^2} ; \quad x \in \mathbb{R}$$

$$(18) \int \frac{x^2+1}{x\sqrt{x^4+1}} dx = \frac{1}{2} \int \frac{x^2+1}{x^2\sqrt{(x^2)^2+1}} \cdot 2x dx \quad \left| \begin{array}{l} x^2 = y \\ 2x dx = dy \end{array} \right.$$

$$= \frac{1}{2} \int \frac{y+1}{y\sqrt{y^2+1}} dy \quad \left| \begin{array}{l} \sqrt{y^2+1} = t-y; y \in \mathbb{R} \Leftrightarrow t \in (0, +\infty) \\ y^2+1 = t^2 - 2ty + y^2 \quad | y=0: t=1 \\ y = \frac{t^2-1}{2t}; dy = \frac{t^2+1}{2t^2} dt \\ y+1 = \frac{t^2+2t-1}{2t}; \sqrt{y^2+1} = \frac{t^2+1}{2t} \end{array} \right.$$

$$= \frac{1}{2} \int \frac{t^2+2t-1}{2t} \cdot \frac{2t}{t^2-1} \cdot \frac{2t}{t^2+1} \cdot \frac{t^2+1}{2t^2} dt = \int \frac{t^2+2t-1}{2t(t^2-1)} dt$$

$$\frac{t^2+2t-1}{2t(t^2-1)} = \frac{1}{2t} + \frac{1}{2(t-1)} - \frac{1}{2(t+1)} \quad ; \quad \left| = \frac{1}{2} \ln \left| \frac{t(t-1)}{t+1} \right| \right.$$

$\Rightarrow$  ~~rychle~~ ~~do~~ ~~zde~~ ~~me~~ ~~nezmei~~:  $x \in (-\infty, 0) \cup (0, +\infty)$    
  $(-\infty, -1) \cup (0, 1) \cup (1, +\infty)$

$$\underline{18-2im} \quad \frac{1}{2} \int \frac{y+1}{y\sqrt{y^2+1}} \quad \left| \begin{array}{l} y = \sinh t \\ dy = \cosh t dt \\ \sqrt{y^2+1} = \sqrt{\sinh^2 t + 1} \\ = \cosh t \end{array} \right.$$

$$= \frac{1}{2} \int \frac{\sinh t + 1}{\sinh t \cdot \cosh t} \cdot \cosh t dt = \frac{1}{2} \int \left( 1 + \frac{1}{\sinh t} \right) dt$$

$$= \int \frac{1}{2} \left( 1 + \frac{2}{e^t - e^{-t}} \right) dt \quad \left| \begin{array}{l} e^t = u \\ t = \ln u \\ dt = \frac{1}{u} du \end{array} \right.$$

$$= \int \frac{1}{2} \left( 1 + \frac{2}{u - \frac{1}{u}} \right) \cdot \frac{du}{u} = \int \frac{u^2 + 2u - 1}{2u(u^2 - 1)} du = \dots \quad \begin{array}{l} \text{nejed} \\ \text{inzebral} \\ \text{jedno ryci...} \end{array}$$

coz meji metoda, melot  $\sinh^{-1}(x) = \ln(\sqrt{x^2+1} + x)$ .

(21)  $\int \frac{dx}{(x^2+1)\sqrt{x^2-1}}$  |  $\sqrt{x^2-1} = t-x$   $dx = \frac{t^2-1}{2t} dt$   
 $x^2-1 = t^2-2tx+x^2$   
 $x = \frac{t^2+1}{2t}$   $\sqrt{x^2-1} = \frac{t^2-1}{2t}$   
 $x^2+1 = \frac{t^4+6t^2+1}{4t^2}$

$= \int \frac{4t^2}{t^4+6t^2+1} \cdot \frac{2t}{t^2-1} \cdot \frac{t^2-1}{2t} dt$

$= \int \frac{4t dt}{t^4+6t^2+1} \left. \begin{array}{l} t^2 = u \\ 2t dt = du \end{array} \right\} = \int \frac{2 du}{u^2+6u+1} = \frac{1}{2\sqrt{2}} \ln \left| \frac{u+3-2\sqrt{2}}{u+3+2\sqrt{2}} \right|$

$\frac{2}{u^2+6u+1} = \frac{-\frac{1}{2\sqrt{2}}}{u+3+2\sqrt{2}} + \frac{\frac{1}{2\sqrt{2}}}{u+3-2\sqrt{2}}$   $m-x$

21-jiind puz:  $x = \cosh t$ ;  $t \in (0, +\infty) \Leftrightarrow x \in (1, +\infty)$

$dx = \sinh t dt$ ;  
 $x^2-1 = \cosh^2 t - 1 = \sinh^2 t$ ;

$\therefore \sqrt{x^2-1} = \sinh t$ ;  $t > 0$ .

$= \int \frac{\sinh t dt}{(\cosh^2 t + 1) \sinh t} = \int \frac{dt}{\frac{1}{4}(e^t + e^{-t})^2 + 1} \left. \begin{array}{l} e^t = u \\ t = \ln u \\ dt = \frac{du}{u} \end{array} \right\}$

$= \int \frac{4u}{u^4+6u^2+1} = \dots$  *notiz jado  $\eta(\tilde{r})$ ;  
 $\cos$   $\alpha$  de  $\tilde{c}$   $\alpha$ ,  $\text{notiz}$*

$(\sinh)_-, (x) = \ln (x + \sqrt{x^2-1})$

$x \geq 1$ .

$$\textcircled{22} \int \frac{\sqrt{x^2+x+1}}{x^2+2x+1} dx \quad \left| \begin{array}{l} x^2+x+1 = t-x \\ x = \frac{t^2-1}{2t+1}; \quad dx = \frac{2(t^2+t+1)}{(2t+1)^2} dt; \\ x^2+2x+1 = (\sqrt{x^2+x+1})^2 + x = (t-x)^2 + x \\ = \frac{t^2(t+2)^2}{(2t+1)^2}; \quad \text{m-x.} \end{array} \right.$$

$$= \int \frac{t^2+t+1}{2t+1} \cdot \frac{(2t+1)^2}{t^2(t+2)^2} \cdot \frac{2(t^2+t+1)}{(2t+1)^2} dt = \int \frac{2(t^2+t+1)^2}{t^2(t+2)^2(2t+1)} dt$$

$$= \int \frac{2}{2t+1} + \frac{1}{2(t+2)} - \frac{3}{2(t+2)^2} - \frac{1}{2t} + \frac{1}{2t^2} dt$$

$$= \ln|2t+1| - \frac{1}{2} \ln|t+2| + \frac{3}{2} \cdot \frac{1}{t+2} - \frac{1}{2} \ln|t| - \frac{1}{2t} ;$$

... no necesari:  $t = x + \sqrt{x^2+x+1}$  pentru  $x \in (-\infty, -1) \cup (-1, +\infty)$ .

$$\textcircled{23} \int \frac{dx}{(x+1)^5 \sqrt{x^2+2x}} \quad \left| \begin{array}{l} \sqrt{x^2+2x} = t-x \\ x^2+2x = t^2-2tx+t^2 \\ x = \frac{t^2}{2(t+1)}; \quad x+1 = \frac{t^2+2t+2}{2(t+1)}; \quad \sqrt{x^2+2x} = \frac{t(t+2)}{2(t+1)} \\ dx = \frac{t(t+2)}{2(t+1)^2} \end{array} \right.$$

$$= \int \frac{32(t+1)^{5/4}}{(t^2+2t+2)^5} \cdot \frac{2(t+1)}{t(t+2)} \cdot \frac{t(t+2)}{2(t+1)^2} dt = \int \frac{32(t+1)^4}{((t+1)^2+1)^5} \left| \begin{array}{l} t+1 = u \\ dt = du \end{array} \right.$$

$$= \int \frac{32u^4}{(u^2+1)^5} = 32 \int \frac{1}{(u^2+1)^3} - \frac{2}{(u^2+1)^4} + \frac{1}{(u^2+1)^5} du ;$$

... prin substituția  $u^2 = v$

... și integrali generale reduse

cu care  $I_m = \int \frac{du}{(u^2+1)^m}$ ; vezi p.  $\textcircled{48}$

23 - jimat:  $\sqrt{x(x+2)} = \sqrt{\frac{x+2}{x} x^2} = |x| \sqrt{\frac{x+2}{x}} = \pm x \sqrt{\frac{x+2}{x}}$

$$\sqrt{\frac{x+2}{x}} = t \quad x = \frac{2}{t^2-1}$$

$$x \in (0, +\infty) \\ \text{atau } (-\infty, -2).$$

$$\frac{x+2}{x} = t^2$$

$$dx = \frac{-4t}{(t^2-1)^2} dt$$

$$x+1 = \frac{t^2+1}{t^2-1}$$

$$\int \frac{dx}{(x+1)^5 \sqrt{x(x+2)}} = \int \frac{dx}{(x+1)^5 x \sqrt{\frac{x+2}{x}}} = \int \frac{(t^2-1)^4}{(t^2+1)^5} \cdot \frac{t^2-1}{2} \cdot \frac{(-4t)}{(t^2-1)^2} dt$$

$$= \int \frac{-2t(t^2-1)^4}{(t^2+1)^5} dt \quad \left. \begin{array}{l} t^2 = u \\ 2t dt = du \end{array} \right\} = \int \frac{-(u-1)^4}{(u+1)^5} du$$

$$= \int \frac{-1}{u+1} + \frac{8}{(u+1)^2} - \frac{24}{(u+1)^3} + \frac{32}{(u+1)^4} - \frac{16}{(u+1)^5} du$$

$$= -\ln|u+1| - \frac{8}{u+1} + \frac{12}{(u+1)^2} - \frac{32}{3(u+1)^3} + \frac{4}{(u+1)^4} \dots$$